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7 100kN/ Mz 25| 1.00 | 000 ~ 045 106.58 |3mx#z3| — ~ — — — | 100kN/ Mm% 25| 1.00 | 1058 ~ 11.84| 106.58 |3mE#z % - ~ — — —
st 1.00 | 045 ~ 823 100.00 | =nst | 000 ~ 823|214 11.45 st 1.00 | 6.00 ~ 1058 100.00 | =nst | 6,00 ~ 1184 2.14 11.45
2 100kN/m%E#Bz25| 100|000 ~ 073 110.83 |3mEBZD| — ~ — — — | 100kN/m%#z25 | 1.00 | 11.72 ~ 1399 110.83 |3mEx#z % - ~ — — —
L 1.00 073 ~ 851 100.00 | =0t | 0.00 ~ 861|245 13.09 ThList 1.00 | 6.00 ~ 1172 100.00 | =St | 6.00 ~ 1399| 2.45 13.09
3 100kN/m%E#BZ5 | 1.00 | 000 ~ 289 1456.77 |3mZEBZD| 000 ~ 006 3.04 16.27 | 100kN/m%i#BZ% | 1.00 | 11.79 ~ 26.79 | 1456.77 |3mE#BZB| 2000 ~ 2679 | 3.04 16.27
ZhLst 1.00 | 289 ~ 1067 100.00 | TR | 006 ~ 1067] 3.00 16.05 zhLst 1.00 | 6.00 ~ 11.79| 100.00 | FhLs | 65,00 ~ 20.00| 3.00 16.05
4 100kN/m% %% | 1.00 | 000 ~ 243| 13802 |3m&EBzx5| 000 ~ 019| 3.13 16,77 | 100kN/m#%#Bz5 | 1.00 | 1259 ~ 2479 | 13802 |3m&#BZ 5| 2000 ~ 24.79| 313 16.77
s 1.00 | 243 ~ 1022 100.00 | NS | 019 ~ 1022] 3.00 16.05 ThList 1.00 | 6.00 ~ 1259 100.00 | Tnhs | 500 ~ 2000 3.00 16.05
5 100kN/ Mz 25| 1.00 | 000 ~ 216 133.60 |3mx#z3| — ~ — — — | 100kN/m%#z25 | 1.00 | 1261 ~ 2269 133.60 |3mE#z% - ~ — — —
st 1.00 | 216 ~ 995 100.00 | =0t | 0.00 ~ 9.95\| 2.756 14.71 st 1.00 | 5.00 ~ 1261 100.00 | =nst | 6.00 ~ 2269| 2.75 14.71
P 100kN/m%#8%% | 1.00 )| 000 ~ 216 133.60 |3m&E{Bzx5| 000 ~ 0.19| 3.14 16.78 | 100kN/m#%i#Bz25% | 1.00 | 1261 ~ 2269 13560 |3m&E#B2B| 2000 ~ 2269 314 16.78
ZhLst 1.00 | 216 ~ 995 100.00 | #hst | 019 ~ 9.95| 3.00 16.05 zhLst 1.00 | 5.00 ~ 1261 100.00 | =05t | 6.00 ~ 20.00| 3.00 16.05
7 100kN/m% %5 | 1.00 | 000 ~ 270| 142.57 |3m&EBzx3B| 000 ~ 003| 3.02 16,17 | 100kN/m#%i#Bz25 | 1.00 | 11.67 ~ 2459 | 14267 |3m&E#BZB| 2000 ~ 2459| 3.02 1617
ThLst 1.00 270 ~ 1049 100.00 | FhLSt | 003 ~ 1049] 3.00 16.05 ThLlst 1.00 | 6.00 ~ 1167 100.00| Ths | 5.00 ~ 2000| 3.00 16.05
P 100kN/MZ#2 2 % — - ~ — —|3mEBZRB| — ~ — — — | 100kN/m%#BZ % — - ~ — —|3m%EiER S - ~ — — —
ThLst 1.00 | 0.00 ~ 207 2844 | Ths | 000 ~ 207|267 13.74 st 1.00 | 6.00 ~ 5.00 2844 | =nst | 6.00 ~ 6.00)| 2.67 13.74
100kN/M%#2Z % ~ ImEBAD ~ 100kN/ M%#BZ % ~ 3mEEZ D ~
Thsn ~ Thst ~ Thsn ~ ZzhLst ~
100kN/MZ#2Z % ~ ImEHBAD ~ 100kN/ M%#BZ % ~ 3mEEBZD ~
Thsn ~ Thst ~ Thsn ~ ZzhLst ~
100kN/ MZ#8Z % ~ 3mEHBAD ~ 100kN/ M%#BZ % ~ 3mEBZD ~
zhsn ~ zhst ~ Thsn ~ ZzhLst ~
100kN/MZ#2Z % ~ ImEHBAD ~ 100kN/ M%#BZ % ~ 3mEBZD ~
zhsn ~ Thst ~ Thsn ~ Zzhust ~
100kN/M%#2Z % ~ ImEBAD ~ 100kN/ M%#BZ % ~ 3mEEZ D ~
zhsn ~ Thst ~ Thsn ~ ZhLst ~
100kN/MZ#8 2 % ~ ImEHBAD ~ 100kN/ M%Z#BZ % ~ 3mEEZD ~
Thsn ~ zhst ~ Thsn ~ ZhLst ~
100kN/MZ#2 2 % ~ ImEHBAD ~ 100kN/ M%#BZ % ~ 3mEEZ D ~
Zzhsn ~ Thst ~ Thsn ~ ZhLst ~




